DopMyJIbI COKPAILIIEHHOTO

YMHOKEHUS

Yuurtean: [1aBaosa Oanra 'ennaanbeBHa



(a-5)° =a’*-10a+25
(a-—1)(a+1) = a?-1

(2x +1)? = 4x°+4x+1

(x +2)(2 - x) = 4-x°
(y+4)? =y*+8y+16

& -5 +5) = y4-25
(x-D(x? +x+1) = x>+1°
(z+2)(22-2z+4) =2°+ 8



@’ -y = (a-y)(a+y)

16 -x"=(4-x)(4 + x)
9a’-25b%= (3a - 5b)(3a + 5b)
0,09 - z* = (0,3 - 2°)(0,3 + z°)
a’- 36 = (a - 6)(a +6)

a’®+ 125=(a + 5)(a’ - 5a+25)
8— b3=(2-b)(4 +2b +b?)



(4o +135) =16 0% 24+ 9b?
(& ¥b¥ 3 8em>+84ardBb49b?
(x--2) =492 88y =+

(5p?-8q)==200p" -80p o1+ 64



a) (a—-4)° +a(a + 8)

6) -5 -(v-2)



6) 9x2-(y+4x)(y-4x)

8) (5¢c-6d)(5¢c+6d)-25¢°



B) (3b-1)(3b+1)-(b-5)(b+5)

r) (m+3n)?+(m+3n)(m-3n)



a) (b-5)(b+5)(b*+25)

6) (3-3)(3+y)(9+y°)



(2a-b)(2a+b)+(b-c)(b+c)+
+(c- 2a)(c+2a)=0



1 BapuaHT

2 BapHaHT

1. YIpoCTuTE BBIPAXKEHUE M HAMJIUTE €r0 3HAYCHUE:

(5x +4)(25x% — 20x +16) — 64

Ipu X=2

(2a — b)(4a%+2ab+b?) + b?®
npu a= - 2, b=1/201

2. IlpeoOpa3yiiTe B MHOIO4JICH CTAHAAPTHOIO BH/JIA:

(2x + 1) — (x — 5)(x +b)

(3a — 2)(3a +2) +(2a — 3)?

3. Pemmure ypaBHeHUE

(x —4)(x + 4) — 6x = (x —2)?

2x+3)*-Tx=(2x—-12x+1)




Jlomarnee 3aganue:

Ne495(0,r),
Ne496(a,0),
Ne498(a,0), 499(s,
r), Ne505.




